> A
A & 0l & AF 2 E A A
20158 = =0l& LB A JIEISESH sS=X
SN SYsXD
HE: sABWA 23
€ NFE sS&2 s8Hd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s =X 11,653,158 8,696,346 2,956,812
= 1,017,002
X 1,325,529
J| 247,331
< 1,789,351
Al 7,273,945
sZZ A L3t 3,392,269 2,549,904 842,365
= 354,935
X 799,000
J| 247,331
< 384,912
Al 1,606,091
NEE sSi=E RSHA 20,379 18,780 1,599
= 1,200
J| 1,280
= 3,120
Al 14,779
I sHEEHII=S &4 10,000 10,000 0
306 ¢ 2 10,000 10,000 0
01 &3 10,000 10,000 0
OZIE=sHELHIS 10,000, 000& 10,000
L=2e BAHEX 1,200 0 1,200
= 1,200
202 o4dl 1,200 0 1,200
= 1,200
01 = LH o4 4l 1,200 0 1,200
oz el XE 1,200,000 1,200
= 1,200
MASSENMAFXEM AL 2t2ldl 1,280 1,280 0
J| 1,280
202 044l 1,280 1,280 0
J| 1,280
01 SLHOIYI 1,280 1,280 0
O/ASSEFA=ZMFE 1,280,000& 1,280
J| 1,280
GOt Z&H WX 7,500 7,500 0
< 3,000
Al 4,500
402 RI2EX 20| N 7,500 7,500 0
< 3,000
Al 4,500
01 B2t t=2 AP E X 7,500 7,500 0
OGOt Z & X & 7,500,000& 7,500
< 3,000
Al 4,500




2N
X ZH -
L= B

el

J O OF
O 12 12
X oY JK

|
oy 23
sSHttE RSHA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
55 =X 399 0 399
< 120
Al 279
402 RI2EX=20| M 399 0 399
< 120
Al 279
01 It 2 AL B X 399 0 399
O2+F8 3=X& 399,000 399
< 120
Al 279
sgel ASEU 554,969 330,749 224,220
= 72,425
< 167,284
Al 315,260
SEAME Mt 4,000 3,000 1,000
402 RIZ2EXt20l ™ 4,000 3,000 1,000
01 It =2 AL B X 4,000 3,000 1,000
Ouldl = X2l Zdl 4,000,000 4,000
sS&=2 ZEX XA 60,000 52,000 8,000
402 RI2HXt20l ™ 60,000 52,000 8,000
01 22t t= AP E X 60,000 52,000 8,000
OsSMESEZEIXN 60,000, 000& 60,000
LSS 56,730 21,990 34,740
301 gt d= 18,000 0 18,000
1MIIEBESS 18,000 0 18,000
Oo=2ssJt MEX& 18,000, 000 18,000
307 21201 A 2,000 0 2,000
02 IZtE M AMHEE 2,000 0 2,000
OME LS XA 2,000,000 2,000
402 RI2HXt20l ™ 36,730 21,990 14,740
01 22t = AP E X 36,730 21,990 14,740
Os&XSAHEIIS AMEAMS (53 210)
44,550, 000& *60% 26,730
O=&sl Hegs&d =4 10,000,000& 10,000
HRAele 4EXHE 2,764 2,764 0
< 259
Al 2,505
402 QI2H X201 M 2,764 2,764 0
< 259
Al 2,505
01 It 2 AL E X 2,764 2,764 0
Ozl E 4EXH 2,764,000 2,764
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SN SYsXD
HE: sABWA 23
ol =90l AOE Sa (ctel:&2)
i _ _ = -
SA BB (SH) - NRAY - B Ol At o gﬁ&i HRE2
s X022l X & 4,624 4,624 0
J| 4,624
101 Q121 H] 4,624 4,624 0
J| 4,624
04 JI2ZtHIZ22NEE S 4,624 4,624 0]
OsX0ISAEY 2R ZAFE 22|
4,624,000 4,624
J| 4,624
SHEES0HA MA 112,200 113,520 N 1,320
= 52,469
& 26,928
Al 32,803
301 et A= 112,200 113,520 AN 1,320
= 52,469
= 26,928
Al 32,803
11 JIEtE A= 112,200 113,520 A 1,320
OsEXY E=sA4d I 112,200,000 112,200
= 52,469
o=} 26,928
Al 32,803
= MHol28 JIY X 250 1,250 A 1,000
& 100
Al 150
301 et A= 250 1,250 A 1,000
& 100
Al 150
11 J|EtE A= 250 1,250 A 1,000
&2 Mol 28 Il X 250,000 250
= 100
Al 150
sHS EHe 2435 5,000 5,000 0
201 et 9| 5,000 5,000 0
03 HAI2 G HI 5,000 5,000 0
O=sAtE X & AF 5,000,000 5,000
SIHESEEE X 333 0 333
o=t 100
Al 233
301 LBt A= 333 0 333
& 100
Al 233
11 JIEtE A= 333 0 333
OsJIHEEEE N 333,000 333
o= 100
Al 233




SA SYST D
Bu: oM U
ool sgEsE Jgtxy (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
s& Jlgtxd 1,373,803 773,620 600,183
= 111,662
Xl 799,000
= 16,674
Al 446,467
2|1 Me8s 29 104,700 84,400 20,300
101 @12 8] 40,000 24,700 15,300
04 JIZtN 22 XS+ 40,000 24,700 15,300
O=3Mtl & 2el ¢ 40,000,000 40,000
201 2Bt2 Yl 32,000 24,000 8,000
01 AtR 22l | 12,000 10,000 2,000
Osodd A= A=
3,000,000 3,000
O=s=xH &g & 4,000,000 4,000
OsENEZAMRY |X 5,000,000& 5,000
02 5524t 15,000 10,000 5,000
OsZEXNEZ AR ¢ 1,000,000& 1,000
OsENE MR 3 7,000,000& 7,000
OsEz2 N=XtE = X dl
5,000,000& 5,000
O==tHt=24 22t 2,000,000& 2,000
03 A2 5,000 4,000 1,000
O=st&AlE A 5,000,000& 5,000
206 T 2 bl 30,000 33,000 A 3,000
01 M= dl 30,000 33,000 23,000
ONSSA & 4= 5,000,000& 5,000
O=3 Ml Mz 25,000,000 25,000
301 LprE a3 2,700 2,700 0
MIEtEd= 2,700 2,700 0
Osgsdabllzus, AMUSIIS SAE
g 1,500,000& 1,500
O=stus A=+ 1,200,000& 1,200
dedsd 54 15,560 20,440 24,880
201 fEt2E | 4,000 4,000 0
01 AtR 2t 2l | 4,000 4,000 0
OANEEZ & &% MY S 1,000,000& 1,000
Oxetzdsd F2N3 3,000,000& 3,000
202 O 4 1,560 1,440 120
01 ZLHO0! bl 1,560 1,440 120
OsSENEYRFA 1,560,000 1,560
402 QI2tXt=01 ™ 10,000 15,000 25,000




AN sE=sXn
Bu: oM U
Sl SsE JIBEY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 It =2 AL EE 10,000 15,000 A5,000
OWH=EielE &&X& 10,000, 000& 10,000
SENELNIES 3,280 6,240 A 2,960
= 984
Al 2,296
201 Let24dy] 1,280 4,240 A 2,960
< 384
Al 896
01 At 22/l 1,280 4,240 A 2,960
OsEXNEXad sHEFEXN M3
1,280,000& 1,280
= 384
Al 896
307 21201 A 2,000 2,000 0
< 600
Al 1,400
02 It S AMHEL 2,000 2,000 0
OsZX&EXN s8ti2n=s 2,000,000 2,000
= 600
Al 1,400
HERIIZHEZXA 160,335 138,700 21,635
= 103,503
Al 56,832
402 QI2H X201 A 160,335 138,700 21,635
= 103,503
Al 56,832
01 B2t AL E X 160,335 138,700 21,635
Ogd |RJIIE Hz XA 160,335,000 160,335
= 103,503
Al 56,832
MII=ES At 37,760 2,240 35,520
= 14,160
Al 23,600
402 RIZ2EX201 ™ 37,760 0 37,760
< 14,160
Al 23,600
01 A=A EX 37,760 0 37,760
QZIEEXN(HAUSZSESUHMLMII=ES
2,720,000 2,720
< 1,020
Al 1,700
OFMMII=(S AN E)AIE 16,000,000 16,000
< 6,000
Al 10,000
OF&MI=(Ot=E2E0E)AE 19,040,000 19,040
< 7,140




2N sY=XD
Ha: sAMe A
S9: sYsE DB Ey SEREE))
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
| Al 11,900
SHABN=E 3,500 4,000 A 500
& 1,050
Al 2,450
206 M = Hl 3,500 4,000 A500
& 1,050
Al 2,450
01 X2 Hl 3,500 4,000 A 500
OsgiduNsHad (Milsgoagsngs)
3,500,000& 3,500
& 1,050
Al 2,450
=ZME D=2 1,600 11,200 A 9,600
= 480
Al 1,120
201 LBt 1,600 3,200 A 1,600
= 480
Al 1,120
01 AP 22| H| 1,600 3,200 A 1,600
OsZE04d MEHEX M2 1,600,000 1,600
= 480
Al 1,120
=2 22| 32,000 45,000 A 13,000
101 @1 214| 6,000 5,000 1,000
04 JIZtHIZ22XNSES 6,000 5,000 1,000
Osga 2H 22 & X 21 4|
6,000,000 6,000
206 M 2 d| 1,000 0 1,000
01 X2 Hl 1,000 0 1,000
Osg9E 222 M=l 1,000,000& 1,000
401 Al HI L 204 HI 25,000 40,000 A 15,000
01 Al&H| 20,000 30,000 A 10,000
Os+=2 84| 20,000,000 20,000
03 AlE 21| 5,000 10,000 A5,000
Os+==2&8Hl &4 dx= 5,000,000& 5,000
SgEBolAAY 16,318 11,400 4,918
= 8,159
Al 8,159
201 et 4,800 4,800 0
= 2,400
Al 2,400
01 AR 22l ] 4,800 4,800 0
OssNEX 4= Xt 800,000 800
= 400




2AN: s8=X13
HE: sABWA 23
Ol SolsE JIBEY (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Al 400
OJI=d9=s Jlsus S 2,000,000 2,000
2 1,000
Al 1,000
OHS=YIILNR(E2Y VEDS] S)
2,000,000 2,000
2 1,000
Al 1,000
202 044l 718 600 118
=2 359
Al 359
01 2L I 718 600 118
ONEBLR HRSANLES X
718,000 718
2 359
Al 359
206 M 2 Hl 6,000 2,000 4,000
= 3,000
Al 3,000
01 =4l 6,000 2,000 4,000
OJI=gs= Jl=u=s s MEH| 6,000,000 6,000
= 3,000
Al 3,000
301 et A= 4,800 4,000 800
= 2,400
Al 2,400
09 HAIAHIBEAZ 4,800 4,000 800
OE22=dIRAN SHDE S
4.,000,000& 4,000
= 2,000
Al 2,000
OJI=d9=s Jlsus S 800,000 800
= 400
Al 400
28 HRUEAMdH HE 998,750 375,000 623,750
N 799,000
Al 199,750
401 Al HI L 2 0HHI 943,750 375,000 568,750
N 755,000
Al 188,750
01 Al& H| 924,750 372,300 552,450
OESHRLIEIAYH HE 924,750,000& 924,750
Xl 739,800
Al 184,950
02 22ldl 14,000 0 14,000
O=2EHRLIEIME HE 14,000,000 14,000
Xl 11,200




SA SYST D
Bu: oM U
S SesE JIBEY (B9 ®R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 2,800
03 AlE 21| 5,000 2,700 2,300
OESHRLIEIAH HE 5,000,000& 5,000
Xl 4,000
Al 1,000
405 XHA&HF S HI 55,000 0 55,000
Xl 44,000
Al 11,000
01 XML 2 FF S| 55,000 0 55,000
O28HBLIEIMEH &I & 2L
55,000,000 55,000
Xl 44,000
Al 11,000
SASMAL L SEINM 43,860 26,760 17,100
=} 5,544
Al 38,316
SILHEESALY 1,160 1,360 A 200
= 464
Al 696
301 et A= 1,160 1,360 A 200
= 464
Al 696
11 J|EtE A S 1,160 1,360 A 200
OZ3JeRYEESAIYE 1,160,000 1,160
& 464
Al 696
HAZMA2AG 2,700 6,100 AN 3,400
& 1,080
Al 1,620
301 Lt A= 2,700 6,100 AN 3,400
== 1,080
Al 1,620
11 JIEtE A= 2,700 6,100 A 3,400
OFAHMA 23 2,700,000& 2,700
=} 1,080
Al 1,620
SS2Esae 40,000 19,000 21,000
& 4,000
Al 36,000
301 et A= 40,000 19,000 21,000
& 4,000
Al 36,000
11 J|EtE A2 40,000 19,000 21,000
Oss=2s22 40,000,000 40,000
= 4,000
Al 36,000




SN SYsXD
HE: sABWA 23
el JIEAMS DlBHE S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
IF=EAME DlEtEtE 491,294 537,991 A46,697
= 17,916
J| 100,000
< 38,034
Al 335,344
DALMY 9,000 10,000 A1,000
402 RI2FX =201 M 9,000 10,000 A 1,000
01 It AL E X 9,000 10,000 A1,000
OR=AdA A 90,000& 1005 9,000
SsdHAY 22,750 22,750 0
402 RIZERH201 A 22,750 22,750 0
01 It 2 AL B X 22,750 22,750 0
OdHAS 56,875, 000& *40% 22,750
S4&sot Ol H X3 34,000 48,000 A 14,000
402 RI2EXt20l ™ 34,000 48,000 214,000
01 A TtE=AEEX 34,000 48,000 A 14,000
O=F4t=sIt DIM2H XI& 85,000, 000& *40% 34,000
TALE MAD|BH & E 50,268 139,365 A 89,097
= 17,916
Al 32,352
402 2I2H X201 M 50,268 139,365 A 89,097
= 17,916
Al 32,352
01 It 2 AP E X 50,268 139,365 A 89,097
OZALZ M A EHEt = ALY 50,268,000 50,268
= 17,916
Al 32,352
IIE=ER MelAd 15,000 15,000 0
< 6,000
Al 9,000
402 RIZER201 A 15,000 15,000 0
< 6,000
Al 9,000
01 It 2 AL B X 15,000 15,000 0
OUEE=E=EMUBHIXNE 15,000, 000& 15,000
< 6,000
Al 9,000
4=t SEXNFAY 35,000 22,750 12,250
402 RI2HXt20l M 35,000 22,750 12,250
01 At Tt=AEEX 35,000 22,750 12,250
Od=sIt SEXAAG 125,000 *700E *40% 35,000
LSAY =4 7,410 6,160 1,250




2N sE=IB
HE: sABWA 23
©F JFEAS Dlgte s (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 2,964
Al 4,446
402 RIZFX20l ™ 7,410 6,160 1,250
< 2,964
Al 4,446
01 It =2 AL B X 7,410 6,160 1,250
OL=sAg=H 7,410,000 7,410
< 2,964
Al 4,446
elol s0tnd 2¢9 14,400 0 14,400
= 10,620
Al 3,780
301 LA Z 14,400 0 14,400
< 10,620
Al 3,780
1MIIEESS 14,400 0 14,400
Ooogol&sotus 29 14,400,000 14,400
< 10,620
Al 3,780
TOHStY MESOIDY 2% 6,000 0 6,000
< 3,900
Al 2,100
301 PP B A 6,000 0 6,000
< 3,900
Al 2,100
NJIEEd=s 6,000 0 6,000
OZOHerd Masotna 29 6,000,000& 6,000
< 3,900
Al 2,100
=B HALG 17,500 31,000 A 13,500
< 7,000
Al 10,500
402 RIZ2HXt20l ™ 17,500 31,000 A 13,500
= 7,000
Al 10,500
01 A=A EX 17,500 31,000 A 13,500
Ox=zda sl 17,500, 000& 17,500
< 7,000
Al 10,500
SMAEE WS 100,000 0 100,000
J| 100,000
402 2I2H X201 M 100,000 0 100,000
2l 100,000
01 B2t AL E X 100,000 0 100,000
O=AtAI &S HSHALY 100,000, 000& 100,000
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SN SYsXD
HE: sABWA 23
el JIEAMS DlBHE S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXAE LS HESXE A
15,000, 0003 *40% 6,000
SAEE NS ALY 3,600 5,400 A 1,800
= 1,440
Al 2,160
402 RI2EX=201 M 3,600 5,400 A 1,800
< 1,440
Al 2,160
01 It AL E X 3,600 5,400 A 1,800
OF 4t Z & ALY 3,600,000 3,600
< 1,440
Al 2,160
NES| HAX2 ALY 6,000 0 6,000
402 QI2EXt20l ™ 6,000 0 6,000
01 EATtEAEEX 6,000 0 6,000
OLdeSs MAXEAY 300, 000& =40 x50% 6,000
=2 & 4= AHEA 720,940 683,476 37,464
= 99,263
J| 141,427
< 122,549
Al 357,701
IF=ZEEREA ol & 80,000 81,000 A 1,000
101 @124l 32,000 29,300 2,700
04 JIZHHZ22XNSE+ 32,000 29,300 2,700
o= 32,000,000& 32,000
201 24l 3,000 6,700 A 3,700
01 At 2t 2l 3,000 6,700 A 3,700
OFMAE22 3,000,000 3,000
206 M= Hl 36,000 36,000 0
01 MHZ 4l 36,000 36,000 0
o2dgi=Y 15,000, 000& 15,000
OuHLES 3,000,000 3,000
OTHALER bolgerE 2|
180,000& x100& 18,000
301 et a = 9,000 9,000 0
MIIEEd=S 9,000 9,000 0
O3+ = 750,000 128 9,000
IIEEEYE HYs 139,877 125,996 13,881
= 69,438
< 17,012
Al 53,427
206 = Hl 74,877 64,956 9,921




SN SYsXD
HE: sABWA 23
SRl JEYS U SNE AUIST CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 30,876
< 11,575
Al 32,426
01 M2 4l 74,877 64,956 9,921
ON=sdgE HLES 74,877,000& 74,877
= 30,876
< 11,575
Al 32,426
301 gt 4= 3,600 3,600 0
= 2,114
= 446
Al 1,040
MIIEBELSS 3,600 3,600 0
OS2 A0 NIHAAEZH 3,600,000 3,600
= 2,114
< 446
Al 1,040
402 RIZEX201 ™ 61,400 57,440 3,960
= 36,448
< 4,991
Al 19,961
01 A=A EX 61,400 57,440 3,960
OHXMIDMAHLES 26,400,000& 26,400
= 11,948
= 2,891
Al 11,561
OTH Al 35,000, 000& 35,000
= 24,500
< 2,100
Al 8,400
AFMA & A 12,200 11,400 800
201 L2l 12,200 11,400 800
01 At 22l 3,700 3,000 700
ON=sdAsSMA0lsxE 2= 1,200,000 1,200
ON=E4XE HMeltl 1,500,000& 1,500
OJ=29dEl) EX dUzssS 1,000,000 1,000
02 8323l 8,500 8,400 100
OJ=EAXE RA & E= 4,000,000& 4,000
ORJISEXNYE R 4,000,000& 4,000
OJ=edan2dH| 500,000 500
StNRRSAXE A 226,503 214,300 12,203
| 135,902
< 13,590
Al 77,011
301 gt L= 226,503 214,300 12,203
J| 135,902
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1,960
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175,000

87,500
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170,
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m
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175,000
87,500
87,500

170,

000

5,000

175,000,000

H

Al

175,000
175,000

87,500
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170,

000

5,000

H

Al

6,490

1,940
4,550

6,490
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H

Al

6,490

1,940
4,550

6,490

01

H

Al

6,490

6,490

1,940
4,550

6,490




2AN: s8=X13
HE: sABWA 23
SRl JEYS U SNE AUIST CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2ZEd HII2KXl 12,500 12,500 0
& 1,875
Al 10,625
301 LBt A= 12,500 12,500 0
< 1,875
Al 10,625
11 JIEtE A= 12,500 12,500 0
OZEAHHIIZS KA 12,500,000 12,500
< 1,875
Al 10,625
AHE B 4,650 4,650 0
J| 2,325
Al 2,325
301 et A= 4,650 4,650 0
J| 2,325
Al 2,325
11 J|EtE A= 4,650 4,650 0
O2HE 22X AN 4,650,000& 4,650
J| 2,325
Al 2,325
AHEBAMNZ XA AY 17,850 22,300 N4 450
= 14,280
Al 3,570
301 LBt A= 17,850 22,300 N4 ,450
2 14,280
Al 3,570
11 JIEtE A= 17,850 22,300 N4, 450
AXEEEAZS XA 17,850,000 17,850
2 14,280
Al 3,570
HACCP HAEE X & ALY 5,600 0 5,600
J| 3,200
Al 2,400
402 SI2FXHE0| & 5,600 0 5,600
J| 3,200
Al 2,400
01 QIZEXIE2AIE 2 X 5,600 0 5,600
O=AtZ2 HACCP HEE X &H| 5,600,000& 5,600
Jl 3,200
Al 2,400
ANSRAAMEX SAS 11,880 11,286 594
2 5,940
Al 5,940
201 et | 11,880 11,286 594
= 5,940
Al 5,940
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= MW
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5,600
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9,000
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6,240
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H
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2,760
6,240
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H
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1,170,000
1,037,640

1,296,540
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0
N
e
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Xl
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SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 20,000
401 A& HIZL 2 0HY| 40,000 0 40,000
N 20,000
Al 20,000
01 Al& b 39,580 0 39,580
Ol Z4AY 39,580,000& 39,580
Xl 19,790
Al 19,790
03 Al&E 201 Y| 420 0 420
OJl24 Z4AY 420,000 420
N 210
Al 210
TAEY Y FOIHOALE 22 2,244 640 788,100 1,456,540
N 57,000
< 1,170,000
Al 1,017,640
=22 101,900 101,900 0
301 Lt A= 1,000 1,000 0
11 JIEIE A2 1,000 1,000 0
OJt24 dD ZAS 100,000& 10 1,000
401 Al HI L 2 0HHI 100,900 100,900 0
01 Al& B 100,000 100,000 0
OJt24 &8I &« o4& 100, 000& »600 60,000
OJl24=84A! 40,000,000 40,000
03 Al 21| 900 900 0
OJlg24 81 & 24l 900,000 900
SN2 Y oAH FHE 332,740 364,200 A31,460
101 @1 21| 107,800 95,000 12,800
04 J|12ZtHIZ22NEES 107,800 95,000 12,800
OEAZ, 2H2 107,800,000 107,800
201 LBt ]| 3,500 3,200 300
01 AP 22| d| 2,000 1,600 400
OsSitz e = s 7¢
2,000,0002 2,000
03 Al H H| 1,500 1,600 A 100
OSHSsH2H el & EHYESSE 7Y
1,500,000& 1,500
401 AlEHIZ £ 0HY| 221,440 211,000 10,440
01 Al&H| 200,000 200,000 0
Ot 2 & A H| 200,000,000 200,000
03 A& E20HH] 21,440 11,000 10,440
ot 22 A 1,440,000 1,440
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2N SY=XD
HE: CASX e

SHelr CAE Y FOBOAM B (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Osttzg & ME=EH U E
20,000,000 20,000
=2 X4 2e 250,000 322,000 A 72,000
Xl 57,000
Al 193,000
401 AlEHIZL £ 0HY| 250,000 322,000 A 72,000
Xl 57,000
Al 193,000
01 Al&H| 250,000 319,690 69,690
O=2(s4a=2) &bl 250,000,000& 250,000
Xl 57,000
Al 193,000
AQAH HZYUEZ AHRH 1,560,000 0 1,560,000
& 1,170,000
Al 390,000
201 et 9| 9,000 0 9,000
& 6,750
Al 2,250
01 AR 22l ] 9,000 0 9,000
OdtE 2 SN AIE =X 9,000,000& 9,000
& 6,750
Al 2,250
401 AlEHIZL 201 Y| 1,551,000 0 1,551,000
= 1,163,250
Al 387,750
01 Al&H| 1,545,384 0 1,545,384
Oited 22 SN ALY 1,545,384 ,000& 1,545,384
= 1,159,038
Al 386,346
03 AlE 2 HH] 5,616 0 5,616
Ot 22 SN A 5,616,000& 5,616
= 4,212
Al 1,404
MBS 4 2,572,729 2,221,472 351,257
= 662,067
Xl 245,529
o= 234,439
Al 1,430,694
NEIiss dMHE XS 387,373 543,145 N 165,772
= 194,227
= 54,734
Al 138,412
= 32,001 33,775 N1,774
= 16,142
o=t 3,947
Al 11,912
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401 AIEHI L 2CHYI 32,001 33,775 N1, TT4
16,142

3,947
11,912

= Hn W

01 Al | 32,001 33,535 A1,534

O T A ( 8,667,0002 8,667
4,475

447
3,745
O 2Uu=22oxg(2h) 23,334,0002 23,334
11,667
3,500
8,167
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P
o
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= N H
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=080 341,372 475,604 N 134,232
172,085
50,787
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04 JI2ZtHZ22 s+ 113,077 154,316 N41,239

O LS00 A & M=
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,077,000& 113,077
57,938
16,542
38,597

= N W

401 AIEHIZ 2 I 228,295 321,288 A 92,993
114,147
34,245
79,903

= M W

01 A& Hl 214,217 303,444 N 89,227
O =0t3RI AY & AAIEH 214,217,000 214,217
107,108

32,133
74,976

02 Zeltl 4,860 5,844 A 084
O =Jt3#J At Z el 4,860,000& 4,860
2,430

729
1,701
03 Al S THHI 9,218 12,000 N2,782

O =0t 3RJ] & AHHHI0IQHA =&

9,218,000& 9,218

4,609
1,383
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= N W

= M W

= W
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M MEPs 84
Sl RZIbsSE NEUNEEA CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 6,000
Al 8,000
402 DI2HX 20| & 14,000 32,900 18,900
= 6,000
Al 8,000
01 It =2 AL B X 14,000 32,900 A 18,900
O SWMBI2U AL (5ML)
14,000, 000& 14,000
= 6,000
Al 8,000
MY ME HRES 308,450 298,751 9,699
= 117,449
< 52,335
Al 138,666
MEAEE XA 36,080 26,480 9,600
201 L2l 4,400 4,000 400
01 At2 22l H| 2,000 1,600 400
Oxdlana 22 S 7Y 2,000,000 2,000
03 &AL S HI 2,400 2,400 0
OUSAIl & =ItRI A 2,400,000 2,400
301 LEtE A= 31,680 22,480 9,200
1M1IIEEAS 31,680 22,480 9,200
Oug =2 =didl 22 31,680,000& 31,680
MBNHIAZ R0 (2 XA 14,256 14,003 253
= 7,128
Al 7,128
101 14l 14,256 14,003 253
= 7,128
Al 7,128
4 D12t ZE2EXNESES 14,256 14,003 253
OMBNEBIAS R0 (2L ME X T AL
14,256,000 14,256
= 7,128
Al 7,128
ASEH S LA 218,114 218,268 A 154
= 110,321
< 32,335
Al 75,458
206 M= Hl 1,798 1,382 416
= 916
< 264
Al 618
01 M= 8l 1,798 1,382 416
O 2N P (EH=ES) 1,798,000 1,798
= 916
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= M W
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02 Zeltl 3,345 3,295 50
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1,672

502
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03 Al& 2 CHHI 808 830 A2
808,000& 808
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= N H

=z N H
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442
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= N H
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O MLHNSLHMEH(OIHES)PL
,950,000%! 2,950
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442
1,033

= MW
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40,000 40,000 0
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= M

401 AIEHIZ 2 I 40,000 40,000 0

20,000
Al 20,000

H

01 A& HI 40,000 39,568 432
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350,391
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11,712

5,020

126,059

NT0,287

=z N H

55,772
39,040
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= MW
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39,040
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Al

350,756

245,529
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401 AIEHIZ 2 I

Xl
Al

350,756

245,529
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349,556
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01 Al&EH

O Lz ald(1km)
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Xl
Al
64,754,000
Xl
Al
60,600,000
Xl
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4,695,000
X
Al
1,399,000

Xl
Al

1,564,000&
Xl

342,632

217,278

151,905
65,373

64,754
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60,600
42,420
18,180
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Chel MEEBES U T o (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 469
O dERAXNEAYE =& 466,000 466
Xl 326
Al 140
ATAIE 22|29 412,500 241,100 171,400
201 et | 5,000 0 5,000
02 2224 5,000 0 5,000
OStEA =2l H 5,000,000& 5,000
206 M = Hl 10,000 10,000 0
01 X2 H| 10,000 10,000 0
OoeeEx IIMRYUS 10,000, 000& 10,000
401 AlEHIZL 2 0HY| 397,500 231,100 166,400
01 Al& H| 380,000 216,100 163,900
OYTHIIES AT L HEHEY
64,000,000 64,000
OEMAU=E Ad2AXH 100,000,000 100,000
ONTBZA & g ol 116,000, 000& 116,000
ONttd 52S IMBHME X 4= |8 AFEE
A48 Z2E 2 NP XNE 29 100,000, 000& 100,000
03 AlE 20| 17,500 15,000 2,500
O A2 & =3HAH UIANWZ 2 fst
29 15,000
-=2&)| Xz 500,000& x20< 10,000
-3de dx=2 500,000 x10& 5,000
ogcHIZs AT 2 aHXd 500,000 500
OEMA= A2 XM 2,000,000& 2,000
ASEREXICHZH =& (2H]) 546,878 368,361 178,517
= 211,351
& 100,658
Al 234,869
101 124 H] 311,372 301,786 9,586
= 124,549
= 56,047
Al 130,776
04 JI2ZtHIZ2 2 NEES 311,372 301,786 9,586
ONMEX20 RO 2124H] 311,372,000 311,372
= 124,549
= 56,047
Al 130,776
201 et 9| 15,236 11,140 4,096
= 6,094
& 2,742
Al 6,400
01 AP 2t 2| H| 9,066 6,400 2,666
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M MEPS sS4
Col: MEIABEA U WY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 4,200
O&= R At 2 & &X
110,000, 000& 110,000
= 44,000
< 19,800
Al 46,200
405 RHoHF S HI 51,000 3,200 47,800
= 20,400
< 9,180
Al 21,420
01 et EFSFHSHI 51,000 3,200 47,800
Ot=dsxt & 2 (20) 51,000,000& 51,000
= 20,400
< 9,180
Al 21,420
MAESUYFY AAISEH = 148,000 138,000 10,000
101 @124l 110,000 110,000 0
04 D12t 22 HEE = 110,000 110,000 0
OdEZAE o2 110,000, 000& 110,000
201 LBr2EH| 38,000 28,000 10,000
01 At 2t 2l 8,000 8,000 0
OO0 222 M 8,000,000 8,000
02 232gHl 30,000 20,000 10,000
Odg L SAMNSE KSR (8LH)
30,000,000 30,000
MBEMHNSLH 2 A== MAAY 160,000 140,000 20,000
101 @124 dl 150,000 130,000 20,000
4 D122 E2XREES 150,000 130,000 20,000
Ot gl S2HE A2 150,000, 000& 150,000
206 = Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
OMSEMHESEH 23 &M L =512 S
10,000, 000& 10,000
MAXEE SIOtAI 22l 2 AHALER Toi=32 3,000 3,000 0
401 AIEHI L 20 3,000 3,000 0
03 Al S HHI 3,000 3,000 0
OAHAIEHS! AR ES 0 QI3 2E BANE
A= 3,000,000& 3,000
Mol EM X7 Hul (ot X+) 200,000 0 200,000
= 100,000
< 15,000
Al 85,000
401 AIEHI L 2CHYI 200,000 0 200,000
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= 100,000
< 15,000
Al 85,000
01 Al& H| 200,000 0 200,000
OMHASE M AR U (G2 X F) AAIEH
=29 200,000, 000& 200,000
= 100,000
= 15,000
Al 85,000
S A2 JlEtEH 3,340,660 2,877,720 462,940
Xl 204,000
Al 3,136,660
TAZ2E =4 670,540 701,000 A 30,460
N 160,000
Al 510,540
HzH 25=X =4 201,440 701,000 A 499,560
401 AlEHIZL 2 0HY| 201,440 701,000 A 499,560
01 Al&H| 200,000 700,000 A 500,000
OMELMIZOId H el OFMg & xst& ATH
150,000,000 150,000
ONEIMIZIOIH HEZI BoAAIE &X
50,000, 000& 50,000
03 AlE 21| 1,440 1,000 440
OMEIAIZIOIH HE| EXdBHAS 1,440,000& 1,440
2l s x4 269,100 0 269, 100
401 Al HI L £ 0HHI 269,100 0 269, 100
01 Al& B 267,000 0 267,000
OsuUIZesdLdHESAH 167,000,000 167,000
OZU2UTHAZY HeHY L ZHMY
100,000,000 100,000
03 AlE 201 Y| 2,100 0 2,100
OsUIZe 2 X248 AIY 1,200,000 1,200
OszL2e s LAY 900,000 900
232 MHEHEE =4 200,000 0 200,000
Xl 160,000
Al 40,000
401 Al HI L E0HHI 200,000 0 200,000
Xl 160,000
Al 40,000
01 A& H| 198,560 0 198,560
ORZ2 MHEHZ2 XHAY 198,560,000 198,560
N 158,848
Al 39,712
03 AlE 20| 1,440 0 1,440
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2AM: sg=X1
HE: CAZRE IBEY
el CABY X4 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OxRZ2 MHHSE =4 AMI 1,440,000 1,440
Xl 1,152
Al 288
MWRe SJASE =4 1,688,620 1,473,800 214,820
Xl 44,000
Al 1,644,620
S3° g8 2 278,200 189,000 89,200
101 @121l 278,200 189,000 89,200
04 JI2ZtH2Z2XNEE S 278,200 189,000 89,200
O2a &g o 278,200,000& 278,200
SEANEE RAE=S 818,820 719,200 99,620
201 LBEt2 Y| 159,500 111,200 48,300
01 At 22l ] 9,500 3,600 5,900
O02I0l=0lAIE HIIANEZA =2
7,500,000 7,500
O3JAZANYE HUHEEE MH
2,000,000 2,000
02 352494l 150,000 107,600 42,400
OSENEE RANE> 3322
120,000, 000& 120,000
O33Y Helol=0lAlE =diths =H It
10,000,000& 10,000
OSdHA2AMNEE RFH 10,000,000& 10,000
OCCTV & X ul| 10,000,000& 10,000
206 M = Hl 45,000 45,000 0
01 M= bl 45,000 45,000 0
OZ23 A4 22l M2 45,000,000 45,000
401 Al HI YL 2 0HHI 614,320 563,000 51,320
01 A& HI 600,000 550,000 50,000
O33AN&E= &I 400,000,000& 400,000
O=XA&EE 3| 200,000,000 200,000
03 A& 20HYI 14,320 13,000 1,320
O3 &2 Ul gxt= 10,000,000& 10,000
OSdANEE FH| 2,880,000& 2,880
O=XA&2 3| 1,440,000 1,440
SESAMA 503,600 477,600 26,000
401 Al HI L 2 0HHI 503,600 472,600 31,000
01 Al &I 500,000 470,000 30,000
O3& ¥ =X &C =522 500,000, 000& 500,000
03 Al& 201 Y] 3,600 2,600 1,000
O3 & =X &0 =522 3,600,000& 3,600
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AN sE=sXn
HE: CAZRE IBEY
Sl RS DAY x4 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Olsotd FAHFHE(CCTV) RS ALY 88,000 88,000 0
Xl 44,000
Al 44,000
401 Al HIZ 201 Y] 88,000 88,000 0
Xl 44,000
Al 44,000
01 A& HI 87,208 87,200 8
Ootsotd JAFE(CCTV) AEAMY
87,208,000& 87,208
Xl 43,604
Al 43,604
03 AIE S THHI 792 800 A8
OO0tsotd IAFZ(CCTV)REAY  792,000& 792
Xl 396
Al 396
SAN= =8 2 2 981,500 702,920 278,580
2o T Al =4 669,300 702,920 A 33,620
101 14l 210,000 210,000 0
4 D12t ZE2XREES 210,000 210,000 0
OZAZ A =AY 2A2Y 210,000, 000& 210,000
201 £B-2dH| 10,000 0 10,000
02 =24l 10,000 0 10,000
OZAZ Al ZHANEE ISR
10,000, 000& 10,000
206 X 24 251,000 261,000 A10,000
01 =8l 251,000 261,000 A 10,000
O2ZgAMS(ZSARXY S)
600& *40,000= 24,000
OZAZANZEAY TP 120,000, 000& 120,000
OumELt2t ZHIX& 2¢ 107,000, 000& 107,000
401 Al HI L 2 THHI 192,200 207,320 A 15,120
01 A& HI 170,000 185,200 A 15,200
OA2Zd HANSE . =sAxd & HUAY
150,000, 000& 150,000
oussdzdy 20,000, 000& 20,000
03 Al 2 THHI 22,200 22,120 80
ZOTAZLEAY BFHAXZE 21,120,000 21,120
OAZd HANSE . sAxd & HUAY
1,080,000& 1,080
405 TtabF S 6,100 24,600 A 18,500
01 AL EFFH S 6,100 24,600 218,500
o=l s ¢ 600,000 »6CH 3,600
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2AN: s8=X13
& TABHE JIBEY
ool TAZE Z8 Y 2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OsggedE) #+¢ 2,500,000& 2,500
MAE NHAEEGIE HSAY 312,200 0 312,200
101 e1214| 101,000 0 101,000
04 JIZtHIZ22 NS ES 101,000 0 101,000
OXHE NHAEHGIE HIAY o182
101,000,000 101,000
206 M = dl 40,000 0 40,000
01 X2 8| 40,000 0 40,000
OXAE NHAEHGIE HSAY XHF2L
40,000,000 40,000
401 AlEHIZ 2 0HY| 171,200 0 171,200
01 Al& H| 170,000 0 170,000
OdlE HAHEGIA &0 Y x5 522
100,000,000 100,000
OdlE NHASESIAE Al A HI 70,000,000 70,000
03 Al&E 201 Y| 1,200 0 1,200
Odld MHHSsIA HoAIY 1,200,000 1,200
HESHAH (s =) 62,860 59,150 3,710
Jl2dH(sg=X1) 62,860 59,150 3,710
Jl2ddl(sg=sX) 62,860 59,150 3,710
201 B9 14,500 13,550 950
01 AP 2t 2| H| 14,500 13,550 950
OEMS&Y AR 224l 14,500,000 14,500
202 044 44 160 42,240 1,920
01 22Ul 44,160 42,240 1,920
OJI2d22s0d|(23H) 44 160,000 44,160
203 & R =&t 4,200 3,360 840
04 FEASHELIFFEH| 4,200 3,360 840
OBRAN2EARZ=XH| (3002 0l3t)
350,000 x12& 4,200




